LFDER
(CHENY 2B FDC 50N)

7=

SFHEELEL & 9,

A=}

1

3 2

5
+ 7.9 0

316

6
+ 5 3 5

+ 9 4 9

8 4

0
+8 90

93

8

+ 7.3 8

_|_

|7
1

9

6
+ 9 3

912

/
3

o0 2

4
+ 9 7 2

_|_

412

'/
+ 6009

216

+ 9 37

9

1

5

4
+.7 2

7.5

6
+ 5 06 2

7172
+ 8 4 6

8|9

5
+ 7.0 8




HAEEZLEL I,

1=

2

3 9

8
+ 56 2 3

@

+ 7 9 2

+ 9

4 3

9
+ 3 3 8

6 4

5
+ 6 6 0

6 6

9
+ 3 0 2

8 8

8
+ 9 6 0

9 8 0
+ 2 3 1

6 2

4
+ 6 7 2

o 3

9
+ 5 2 9

3 4

9
+ 2 4 9

o 9

6
+ 7 2 7

2 4 6
+ 8 90

7 0

6
+ 7 4 8

8 O

0
+ 4 0 8

O©.5 7 IXFHREE



